Ol&

A

ef

www.wtsensor.com

ol
ol

F

PCM303

%M Tsensor

= R R R I B - (Y
KXo . oo @ m (1
T w TR : S
moomogp AW s s g X O oo %
a - YUy 2 W
m mg_I__oo.F 2 < zr
woM a5 @ F Dol =
= B o KD pad > 1Y O o =
aAlA_N_.ﬁour._ S o“_o,An_.D <
AT Y gyl Moo=
i = = - x W w w L s}
.Adﬂoaﬁamm_.aowﬂ_NM_j . o o)
WSwmag®®E, T opEd @
I T [ &l <m" °
2w 0 Ry 7 UM | I
TR SIS =
I | R Sl X2
E_:I__gmﬁ_xg%m_x o B D 6 ol op ot X O
o oo B D = n0 %o gomﬁm_xﬂ%l,
O S AU I B g ous e s T
oD E_m_er_.&%:.maau. w < = W R ot
g = . o= ol OO - o KD
B o Rws<dsg® W5 =W G g &
<! G 33 mw A R Mo = JE HO oW
L S N O T T T r.qz_%ﬂguﬂod
R & ol ol ®’ ~ ofof <l R R R X mT .
— <
Ki
S + - - mwe  ME S S B A
o ol 00 _ MS A ool Wm
0 oo X R Jo H S .k W ok o
) A_mm-x = SOUSw O _ L a
g Mol o R0 s I .= o &
v T 5 = < oo Wy S
= ol o = H zr = i
wll O|._ KO T = o o3 < Z 43 % —=
< T < 4_L_.__o 4V < . H <10 < ©
9 IF*g Ta D Y Tl =R
AL o = = = =z R RO = RgmMWaid Xz =
S agBn Howw R w- T Rma s g
o) K = = a0 R I
oL W M_ N __._M__. Ul o <l < K o) 10 Ko N an < F m <3
U TR T A T =z 0h & =< TR S RETHED TR D
6@&@%%8 %&E W A W %Eam:___MHOMXT%M.mmM
o » o MR D W R Ky = CI = .
gw . %W K- — N ™ <~



A\
RN

“%MTsensor

& g -100kPa---0~35kPa---100MPa
2 YA HOIXIL, 0, &5 HOIX
3=c 0.5%FS
SlAHIEIAIA & Bt=H 0.1%FS
ec came 35kPa: £2%FS(0~60T)
JIEH &9l £1.5%FS(-20~857T)
SE Al2t <1ms (go up 90%FS)
QW &= 2 Hel a8 HEHX
== >10x10° & Mol2
a4z 25 9. -20~85T
K & < -30~105C
22 2 He -40~125T
EMC-2t& IEC 61000-6-3
EMC-UA IEC 61000-6-2

=100M&/500VDC(200M&R/250VDC)

Sine curve: 20g, 25Hz~2kHz; IEC 60068-2-6

W &s
Random: 7.5grms, 5Hz~1kHz; IEC 60068-2-64
_ =21 200g/1ms; |IEC 60068-2-27
L =4 _
A= <ok 1m; IEC 60068—-2-32
25 3 P65
Oidl 2= 316L 2t &2Zot= 2= OHA
A 150~180g
d= S5 22 oM Y= ExiallCT6 (4~20mA =8 Bt Y &)
=2t A0l X HEX27

nt Bl B3 B2 B7 B12 B6
=4 4~20mA 0~5V 1~5V 0~10V 1~10v 0.5~4.5V RM
g d& 12~30vVDC 12~-30VDC 12~-30vVDC 12~30VDC 12~-30vDC 5vDC

2 www.wtsensor.com



\S“ ""

“MITsensor
SELEETEEE

HUly IE J5: DIN43650 J15: DIN43650 0|2
-3 2
ACE
=3
L]
" ]
NES @ Ej/_—|= I_,...',']I II
L= a1
In mm d T
+I1
s 3
il Ty
= ~o| -1
[t |
) -
076.5 926.-
235 88 IP65 IP65
HAE 25 | Pin 10 M3+ wEopAN D 4
ds (2 &d) |Pin2: 87 & =M M2 =
Hud o Pin 1: &M@+ Yot M2+
in2: & [
mor (3 ) | Lne A LH-r
Pin 3: 8 =& LAl Mop =2
SHIHO| AIS
AN
JHBIHIONE, HXl oH O
HIO AX & ZXI%
ASLICH Bl <=2
SHo &M HIHE
OHAl =2A

UHH ’SEE %'é‘ AIDFO{

Ztot Xl EsLICH

3 www.wtsensor.com



C3:G1/4

%M Tsensor
of oI
LA 2C C1 : M20x1.5-6g C2:G1/2
627 ! !’_27 L
| LD | T
In mm = — = —  S—
—  —— o
| M20x15 | 61/2 G1/4
=3 £3 15~25Nm 15~25Nm 15~25Nm
LIAF RS C4: M14x1.5 C5: NPT1/4. Z1/4 C6 :R1/4. PT1/4. ZG1/4
!Ew !!n
x| & o | | E | :~=_>i | N —]
In mm e - T A\ T
ikl NPT1/4 R1/4
=d £3 15~25Nm 15~25Nm 15~25Nm
LIAF 22 C7 NPT1/2. Z1/2 C8: M12x1.5 C10:R1/2. PT1/2. ZG1/2
ﬁ.ﬂ ! EZT ﬂl’
1% T 0 I~ m
In mm = : ’ = = !
NPT1/2 [H Ri/2
=x £3 15~25Nm 15~25Nm 1 5~25Nm
LIAF 2 C15:G3/8 C20:M10% 1 C22 : M16%1.5
4. 4 4
P = | : | | =| | :J
In mm = N [ [ 1 ] S
(3/8 | H10ct | M16x15
=3 £3 15~25Nm 15~25Nm 15~25Nm
4 wWww.wtsensor.com




*\!"0

“MITsensor

LA 2 &= C23:M18x1.5

, NA W&,
L elol EI}EP CHSLICY.

LIALSl =&

U]
o M

J

x4 = [ 1]

[N mm =

M18x15
15~25Nm

=& Ed

e i

o
Je
0F [k
Jo (=[]
x
iy
(18]
40
0]
[
J
ne
(@]

= | %F_E_A' = e H & mg 244 Hl2
I &4 cliHgt A
35k G, A 0~35kPa 200%FS 500%FS
70k G 0~70kPa 200%FS 500%FS
100k G, A 0~100kPa 150%FS 300%FS
250k G, A 0~250kPa 150%FS 300%FS
400k G, A 0~400kPa 150%FS 300%FS
600K G, A 0~600kPa 150%FS 300%FS
™ G, A S 0~1MPa 150%FS 300%FS
1.6M G, S 0~1.6MPa 150%FS 300%FS
2.5M G, S 0~2.5MPa 150%FS 300%FS
4M S 0~4MPa 150%FS 300%FS
6M S 0~6MPa 150%FS 300%FS
10M S 0~10MPa 150%FS 300%FS
16M S 0~16MPa 150%FS 300%FS
25M S 0~25MPa 150%FS 300%FS
40M S 0~40MPa 150%FS 300%FS
60M S 0~60MPa 150%FS 200%FS
100M S 0~100MPa 120%FS 150%FS
(-100~0)k Omission -100~0kPa 150%FS 300%FS
(0~-100)k Omission 0~-100kPa 150%FS 300%FS
NP 100K Omission -100~100kPa 150%FS 300%FS
10 1:G HOIXE, A, Z20H, S, &= HOIXIE.
02 29 S0 gle &3 A2 32, =8 WMMd= M=Re JtA O 0FE LI

www.wtsensor.com



NI/
A%

“%MTsensor
et NI AlE|

o
o

ox

5%

13

0o
I
rE
ol

M4EHIH

B A=

100030100027

LCD1294H
ClIAZea0l

) CIAZY 0l

100040100008

BS-6 CIXE
ClAZdl0l

100040101000

' Hessman

e

Mz
|

H

100040301005

2= A
Hessman
=41

4
o
B

100040301013

www.wtsensor.com



/7
AV

“%MTsensor

)
=2 o

r

PCM303 - 35k - G - Bt - (38 - Jb
MNZE 24 J5: DIN43650
J15: DIN43650
2x om me Jolg &=
e
G OIS C1: M20x1.5-6g
ArEmE c2: G1/2
S: A Holxe o3 G114
C4: M14x1.5
C5: NPT1/4. Z1/4
B1: 4~20mA C6: R1/4.PT1/4.2G1/4
B2: 1~5V C7: NPT1/2. Z1/2
B3: 0~5V C8: M12x1.5
B6: 0.5~4.5V C10:R1/2PT1/22G1/2
B7: 0~10V C15: G3/8
B12: 1~10V C20: M10x1
C22: M16%x1.5
C23: M18x1.5

Ol : PCM303-35kGB1C3J5
N& 22 PCM303, && HR: 0 ~ 35kPa, & dIHedA: HOIK &=, 28 A3 4 ~ 20mA,
& ZE:I Gl /4, M1 AZ: DIN43650.

4
MO
i

m

e}

—

ol

i =&ote UM M= 85 =2 ME2 884

Jo

o
e
=
0

M
HO

Wotian 2 At SE28I0| & st=s HEE A2t AsU b M3 &
A OIALlEl.

I-E
rr
0
o
Qﬂ
K]
>
[
4]

ot A8

Nanjing Wotian Technology Co.,Ltd.

Add: 5 Wenying Road, Binjiang Development Zone, Nanjing, 211162, China
Sales Manager: Wuzhou Lian

MP: 0086-13998828452

Email: lianwuzhou@wtsensorus.com

7 www.wtsensor.com





